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1. Determine which point lies on the graph of the equation + = TxT-3x+2
A. (L, 6)
B. (2, 6)
C.(1,4)
D. (3,5)
E. (2, 4)

y==5-|x-3
2. Determine which point does not lie on the graph of the equation :
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3. Create and complete a table to find the x and y coordinates of points that lie on the graph of the equation
below. Plot at least 5 points along with the graph of the equation.
y==3x+3

&y
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y=[-5x—4
4. Find the x- and y-intercepts of the graph of the equation .

5
1]
A. x-intercept:
y-intercept: (0. 4]

B. x-intercept:
y-intercept: (0. — 3]

C. x-intercept:
y-intercept: (0. 4]
D. x-intercept: 4. 0)
y-intercept: (0. — 3]

E. x-intercept:
y-intercept: none



2
5. Find the x- and y-intercepts of the graph of the equation *' = —bx+3,

&B

A. x-intercept:

o.5)

y-intercept:

B. x-intercept:

y-intercept:

C. x-intercept:

y-intercept:

D. x-intercept:

(0. -5
y-intercept:
E. x-intercept:

o)
02 5)

on | 1Lk

y-intercept:

6. Use algebraic tests to check the following for symmetry with respect to the axes and the origin.
2% — 8y = 0

A. Symmetric with respect to the origin.

B. No symmetry.

C. Symmetric with respect to the y-axis.
D. Symmetric with respect to the x-axis.



7. Use algebraic tests to check the following for symmetry with respect to the axes and the origin.
¥= axt—x%-3

A. No symmetry.

B. Symmetric with respect to the y-axis.

C. Symmetric with respect to the origin.
D. Symmetric with respect to the x-axis.



8. Assume the graph has the indicated type of symmetry. Sketch the complete graph.
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9. Find the x- and y-intercepts of the graph of the equation .
A. x-intercept: (7, 0)
y-intercept: (0, —7)

B. x-intercept: (49, 0)
y-intercept: (0, 7)

C. x-intercept: (-7, 0)
y-intercept: (0, —49)
D. x-intercept: (49, 0)
y-intercept: (0, 49)

E. x-intercept: (7, 0)
y-intercept: (0, 49)



10. Find the x- and y-intercepts of the graph of the equation ¥ = 8x -8

b

A. x-intercept:
y-intercept: none

G
&)
B. x-intercept:
y-intercept: (0. ]
8
5]
C. x-intercept:
y-intercept: none
D. x-intercept: (8. 0)
y-intercept: (0 2]

E. x-intercept: £3. 0
y-intercept: none

11. Write the standard form of the equation of the circle with the given characteristics.
center: (3. 1): radius: 4
(x+3)% +

A.
2

B.

C.
2

(»+

(x- 17+ (»-3
(
(

EoT Gl YR

D.
2

1)°=
i
(x-17+(»-3)" =1
=
§=

(x—3)2+(y 1
E.



12. Write the standard form of the equation of the circle with the given characteristics.
center: (=% 4:'; solution point: (rdimibl]

(x+4)% +(y-4)" = 104

A.

(x—4Y+(y-4)" =8
B.

(k=4 +(y+4)" = 104
C.

(x—4) + [y+4j2 = 30
D.

(x+4)7 +(»+4)" = 80
E.

13. Write the standard form of the equation of the circle with the given characteristics.
endpoints of a diameter: (—1, 4), (7, €)

(x=37+(y-5)" =17
A.

(x—5j2+ y—73 f

B.

2

s
(x+3)° + _:u‘+5j2
)" =221

(
(
C.
{x+3j2+|:_}f 5
D.
(x—3)2+(_y+5j =221
E.

2, .2
14. Find the center and radius of the circle * 1T~ =36
A. center: (0, D:‘, radius: 4
B. center: = 1. 1) radius: 4
C. center: (0, '3:', radius: 6
D. center: (Gl 1:', radius: 6
E. center: (—5. _41 radius: 6



15. Find the center and radius of the circle
A. center: (. 4:‘, radius 7

B. center: k% 9:', radius 49

C. center: t=%. — 9:', radius 7

D. center: (=% — 9:‘, radius 49

E. center: (4, 9:', radius 7

(x-4Y+(y-9)" =49



16. You purchase a jet ski for $10,000. The depreciated value, y, after x years is given by
y=10,000—-1,000x
. Sketch the graph of the equation given 0 = x = 6.

10000
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¥

Slx—i2)=43x =6
17. Determine whether the equation is an identity or a conditional equation. If conditional,
indicate the condition.
A. conditional with x = Z satisfying the equation
B. conditional with ¥ = U satisfying the equation
C. identity
D. conditional with & = —2 satisfying the equation
E. conditional with no solution



_ o =bBlx-1=—-6x+12 o . _
18. Determine whether the equation IS an identity or a conditional equation. If
conditional, indicate the condition.

A. conditional with * = U satisfying the equation

!
2
B. conditional with satisfying the equation
C. identity
D. conditional with no solution
1
Pl
2
E. conditional with satisfying the equation
_ o =i+ A =—Ax+ 2 S N _
19. Determine whether the equation is an identity or a conditional equation. If
conditional, indicate the condition.
-
i
A. conditional with satisfying the equation
B. conditional with ¥ = 0 satisfying the equation
a
rx=-=
2
C. conditional with satisfying the equation
D. conditional with no solution
E. identity

20. Solve the equation & — 2% = &

.4
—
A.
___28
T
B.
2
— S5
C.
__M
T
D.
2
14



—(x+6)—-1=6(x-96
21. Solve the equation ( ) ( :I.

__43
£
A.
2
T
B.
6
1
C.
|
i
D.
2
7
E.

%[z+2j— % (z+3)=0
22. Solve the equation

Lo

e
A.

1

-5
B.

5

1
C.

_ 153

T
D.

,_ 153

T
E.

23. Solve the equation 0-7x +0.3(3-x)=3
A.6

B. 5.25

C.21

D. 105

E. 2.625



24. Solve the equation 2(x —5)+5(x+6)=4(x+7)

L 1o
T3
A.
.10
-3
B.
__20
-3
C.
.
3
D.
___8
-3
E.
f + 5+
_‘}r+_‘}r=_‘}‘
¥ ¥
25. Solve the equation
__1
-
A.
1
S
B.
il
9
C.
.
S5
D.
182
g



3 1 B

r-81x-3) (x-8) z-3
26. Solve the equation

2
3
A.
_25
9
B.
70
-9
C.
LT3
g
D.
3B
-9
E.

7
~
A.
1
T
B.
0
- g
C.
!
T2
D.
7
- g



28. Write the following quadratic equation in standard form.
—16x° =20+ 12x

A —16x% — 12z = 20

B. 16x° +12x+20=10

C.l2x—16x"+20=10

D. 20— 16x* +12x =10

E-16x°+204+12x =0

29. Write the following quadratic equation in standard form.
5[x2 + 2] = 9x

A Sz +10-9x=0
5[x3+2]—9x=0

B.
C 5x*+10=9x
D. 5x*—9x =—10

E Sz —9x4+10=0

30. Write the following quadratic equation in standard form.
xMx-31=x-9

Axi-d4x-9=0
B.x'—4x+9=0
C.xi+dx+9=0
D.x —dx=-9
Ex’-3x=-9%



31. Solve the following quadratic equation by factoring.
—5x" +27x-10=10
AX==di ix=2

:-':=%, x=-=5
B.

x:—%, JpE=id)
C.

x=—%, x=-=5
D.

x:%, =t
E.

32. Solve the equation 4x” = 25 by extracting square roots.

_25 25
=STrE )
A.
ro 22
!
B.
g2 _3
4 T4
C.
=2
=0
D.
g2 _3
“U: T



2
33. Solve the equation (9x+35)" =2 by extracting square roots.

C-5+4f2 -5-42
T g
A.

et
=73 Ty
B.

C5+a2 5-02
T g
C.

el

s ————

5

D.

.

=73
E.

2 2
34. Solve the equation (x=3)" =(x+8) by extracting square roots.
A x=10

.5
-2
B.
.5
T2
C.
D. no solution
B
T g D
E.

35. Solve the following quadratic equation by completing the square.
K- 2x-8=0

Ax=2, xr=-4

B X=2, x=-2

C.x=-2

D=3 =t

EX==d: =4



36. Solve the following quadratic equation by completing the square.
64x* = 160x — 91

0] -

A=

£x=7, 13

37. Use the Quadratic Formula to solve 36x° —48x+14 =0

—f2+4 244
e T
& &
A
e RS
X=———, %=
£ &
B.
—f3+4 344
Xx=———, x=
£ &
C.
s O
r=——m——, x=
& &
D.
il s J2 3
I=T’ = 6



38. Use the Quadratic Formula to solve '+ 20 +98=10,
A Ee=0h el

B x=—~{2-10, x=4/2-10
cx=—3-10, z=4/3-10

D. x=:l0, ix==10

E.x:—ﬁ—Q, x:ﬁ—ﬁ'

2
[gx— 1-’-’1] = 20x

39. Use the Quadratic Formula to solve

98 +49.5 98— 49.]5
ST 0 YT 20
A.
147 +49.3 147 - 49,3
r= 20 T 20
B.
147 +49.3 147 - 49,3
r= 10 7 10
C.
147 +49./5 147-49.45
t= T 20
D.
147 +49./5 147 - 49./5
r= 0 T 10
E.

40. Use the Quadratic Formula to solve the equation 2.3x° — 0.1x = 0.9 = 0 (Round your answer to three

decimal places.)

A x=-1408, x=-0.509
B x=2115, x=-3815
c. x=0648 x=-0604
D.x=1914, x=-3.162

£ x=-0.493,

x=1541



41. Use the Quadratic Formula to solve the equation —330x* +325x + 550 = 0 (Round your answer to three
decimal places.)

A X=-20928, x=1.896
g x=03%, x=-0757
c.x=0595 x=-1410
D.x=—-2.013, x=3.946
e x=-0.872, x=1801

42. Solve the following quadratic equation using any convenient method.

15x% = 10x
xzé,xzﬂ
A.
B.x=10
.2 B
3 3
C.
2
-3
D.
E x=:0. ix="13

43. Solve the following quadratic equation using any convenient method.
(—dx — 9)° = 16x°

xz%, =10
A.
.9
4
B.
9
B
C.
9
~ 8
D.
s 8
i !



44. Solve the equation and write complex solutions in standard form.
A -10x+41=0

A x=—20—di — 20+

B % =—4+5, -4 5

c x=5+16, 5- 16

D x=5—4, 5+4

£ x=—4+25, —4-25

45. Solve the equation and write complex solutions in standard form.
b +16=0

A x==3+07i-3- .7
B x=T7+/108, 7 /10

C x=—344/10i, - 3— /10
D.x =T+ /71, 7= 7

£ x =10+ /75, 10— f7i

46. Find all solutions to the equation xt-16=0

AX=-2 2
B.x=73
cCE==20
D.x=2

E x=-—2



47. Find all solutions to the following equation.
—32x" —80x  +2x45=0

R Y -
7 T 2

A.

R T
1T s T

B.

N
B R

C.

W% B
B B

D.

B 5
B T

E.

48. Find all solutions to the equation 36x" — 145x" +4 =0,

x:é, =t
A.
1 1
I__E’ x—g, x=—-6 x=-2
B.
1 1
I__E’ x—E, el pead)
C.
1 1
x——g, x—g, Freabe: Hne=ih
D.
1 1
:J:——E, x—g, Jr=seier et
E.

49. Find all solutions to the following equation.
AN2—x-14=10

A x=1%4

B.x=12

Cc.x=-12

D.x=-1%4

E.x= 1598



50. Find all solutions to the following equation.

W1+10x=3=0
A x =26
_:l8
~ 5
B.
_ 27
~ 10
C.
.
— 3
D.
o
G
E.

51. Find all solutions to the following equation.
x— A9 +50 =-10

Axr=-1 xz=-10

Bx=1 z=10

c.k==8, x=9

D.x=-10

Ex=-1

52. Find all solutions to the following equation.
NJAx—8 = Jax+9

__1
4

A.

B.x="%4

C. no solution

D x=-17

E.x=-8



53. Find all solutions to the following equation.
(x—2)%% = 25
A x=127, x=-127
B. no solution
c.x=127
125
e

D.
£ x=127, x=-123

54. Find all solutions to the following equation.
! ]
s g

A. no solution



Lar AT_8e ChO0l1 Key

. Determine which point lies on the graph of the equation + = Tx?-3x 4+ 2

. (1,6)
-(2,6)
(1, 4)
-(3,5)
(2, 4)

Mmoo o

y==5-|x=3



3. Create and complete a table to find the x and y coordinates of points that lie on the graph of the equation
below. Plot at least 5 points along with the graph of the equation.
y==3x+3
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y=[-5x—4
4. Find the x- and y-intercepts of the graph of the equation .

5
1]
A. x-intercept:
y-intercept: (0. 4]

B. x-intercept:
y-intercept: (0. — 3]

C. x-intercept:
y-intercept: (0. 4]
D. x-intercept: 4 0]
y-intercept: (0. — 3]

E. x-intercept:
y-intercept: none



2
5. Find the x- and y-intercepts of the graph of the equation *' = —bx+3,

&B

A. x-intercept:

o.5)

y-intercept:

B. x-intercept:

y-intercept:

C. x-intercept:

y-intercept:

D. x-intercept:
(0. -5

y-intercept:

E. x-intercept:

025)

y-intercept:

6. Use algebraic tests to check the following for symmetry with respect to the axes and the origin.
2% — 8y = 0

A. Symmetric with respect to the origin.

B. No symmetry.

C. Symmetric with respect to the y-axis.
D. Symmetric with respect to the x-axis.



7. Use algebraic tests to check the following for symmetry with respect to the axes and the origin.
¥= axt—x%-3

A. No symmetry.

B. Symmetric with respect to the y-axis.

C. Symmetric with respect to the origin.
D. Symmetric with respect to the x-axis.



8. Assume the graph has the indicated type of symmetry. Sketch the complete graph.
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9. Find the x- and y-intercepts of the graph of the equation .
A. x-intercept: (7, 0)
y-intercept: (0, —7)

B. x-intercept: (49, 0)
y-intercept: (0, 7)

C. x-intercept: (7, 0)
y-intercept: (0, —49)
D. x-intercept: (49, 0)
y-intercept: (0, 49)
E. x-intercept: (7, 0)
y-intercept: (0, 49)



10. Find the x- and y-intercepts of the graph of the equation ¥ = 8x -8

b

A. x-intercept:
y-intercept: none

G
&)
B. x-intercept:
y-intercept: (0. ]
8
50)
C. x-intercept:
y-intercept: none
D. x-intercept: (8. 0)
y-intercept: (0 2]

E. x-intercept: £3. 0]
y-intercept: none

11. Write the standard form of the equation of the circle with the given characteristics.
center: (3. 1): radius: 4
(x+3)% +

A.

(x—1)2+ y—3 :

B.

C.

(R s sy

D.
2

(v+1)°=
(»=3)" =
(x-17+(»-3)" =1
(»+3)
e

[x—3j2+ v—1
E.



12. Write the standard form of the equation of the circle with the given characteristics.
center: (=% 4:'; solution point: (2iemib)
2
(x+4)°+(y-4)" =104

A
(x—4Y+(y-4)" =8

) (k=4 +(y+4)" = 104

) (x—4)%+ (p+4)" = 80

D.(x+4}2+(y+4j2=8[]

E.

13. Write the standard form of the equation of the circle with the given characteristics.

endpoints of a diameter: (—1. 4), {7, &]
(x=37+(y-5)" =17
A,
2 2
(=51 +[y-3

B.

2

s
(x+3)° + _:u‘+5j2
)" =221

(
(
C.
{x+3j2+|:_}f 5
D.
(x—3)2+(_y+5j =221
E.

-
14. Find the center and radius of the circle * 1T~ =36
A. center: (0, E':', radius: 4
B. center: =1, 1) radius: 4
C. center: (0, D:‘, radius: 6
D. center: ©—1. — 1) radius: 6
E. center: =6, — 411, radius: 6



(x-4Y+(y-9)" =49
15. Find the center and radius of the circle
A. center: 2, 4:‘, radius 7
B. center: k% 9:', radius 49
C. center: (4. — 9:', radius 7
D. center: (=4, — 9:‘, radius 49
E. center: 4 %) radius 7



16. You purchase a jet ski for $10,000. The depreciated value, y, after x years is given by

y=10,000-1,000x

100009
50004
8000t
f000 ¢
0001
50001
4000
3000
2000
1000 |

. Sketch the graph of the equation given 0 = x = 6.

¥

¥
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¥

Slx—i2)=43x =6
17. Determine whether the equation is an identity or a conditional equation. If conditional,
indicate the condition.
A. conditional with * = £ satisfying the equation
B. conditional with ¥ = U satisfying the equation
C. identity
D. conditional with & = —2 satisfying the equation
E. conditional with no solution



_ o =bBlx-1=—-6x+12 o . _
18. Determine whether the equation IS an identity or a conditional equation. If
conditional, indicate the condition.

A. conditional with x = U satisfying the equation

!
2
B. conditional with satisfying the equation
C. identity
D. conditional with no solution
i
TR
E. conditional with satisfying the equation
_ o =i+ A =—Ax+ 2 S N _
19. Determine whether the equation is an identity or a conditional equation. If
conditional, indicate the condition.
-
i
A. conditional with satisfying the equation
B. conditional with % = U satisfying the equation
a
rx=-=
2
C. conditional with satisfying the equation
D. conditional with no solution
E. identity

20. Solve the equation & — 2% = &

4
—
A.
___28
T
B.
B
5
C.
M
T
D.
2
14



—(x+6)—1=6(x—6)
21. Solve the equation .

__43
£
A.
2
T
B.
6
1
C.
|
i
D.
2
=
E.

%[z+2j— % (z+3)=0
22. Solve the equation

Lo

e
A.

1

5
B.

5

1
C.

_ 153

T
D.

,_ 153

T
E.

23. Solve the equation 0-7x +0.3(3-x)=3
A. 6

B.5.25

C.21

D. 105

E.2.625



24. Solve the equation 2(x —5)+5(x+6)=4(x+7)

L 1o
T3
A.
.10
-3
B.
__20
-3
C.
.
3
D.
___8
-3
E.
f + 5+
_‘}r+_‘}r=_‘}‘
¥ ¥
25. Solve the equation
__1
-
A.
1
S
B.
il
9
C.
.
S5
D.
182
g



26. Solve the equation

2
3
A.
_25
9
B.
LT
9
C.
LT3
g
D.
_ 58
-9
E.

i
~
A.
i
T
B.
.
.
C.
il
T2
D.
.
.

3 1 B

e la=3) G5 -



28. Write the following quadratic equation in standard form.
~16x% = 20+ 12x

A —16x% - 12x = 20

B. 16x* +12x+20=10
col2x—16x"+20=10
D 20—-16x" +12x =0
E-16x+20+12x =0

29. Write the following quadratic equation in standard form.
5[x2 + 2] = 9x

ASxi+10-9x=0
5[x3+2]—9x=0

B.
CoSxi4+10=5x
D 5x*—09x=-10

E 5% —9x+10=0

30. Write the following quadratic equation in standard form.
xMx-31=x-9

Az —dx—8=0
B.x'—dx+9=0
Cx+dx+9=0
D.x’—dx=-9
Exi-3x=-9%



31. Solve the following quadratic equation by factoring.
—5x" +27x-10=10
AX==dy =5

:-':=%, x=-=5
B.

x:—%, JpE=id)
C.

x=—%, x=-=5
D.

x:%, =t
E.

32. Solve the equation 4x” = 25 by extracting square roots.

_25 25
=STrE )
A.
ro 22
!
B.
g2 _3
4 T4
C.
=2
=0
D.
g2 _3
=g Y

|m



2
33. Solve the equation (9x+35)" =2 by extracting square roots.

C-5+4f2 -5-42
T g
A

et

= 9
B.

C5+a2 5-02
T g
C.

el

s ————

5

D.

.

=73
E.

2 2
34. Solve the equation (x=3)" =(x+8) by extracting square roots.
Ax=10

.5
-2
B.
__5
2
C.
D. no solution
B
T g D
E.

35. Solve the following quadratic equation by completing the square.
x-2x-8=0

AXx=2 x=-4

B &=2y =i

C. = =e

D. Bl i

E ®==d; ax=4



36. Solve the following quadratic equation by completing the square.
64x* = 160x — 91

i
R

A.

3

- B

B.

Lot 13
~ 8" 8

C.

__@ i
- B B

D.

cx=7 13

37. Use the Quadratic Formula to solve 36x° —48x+14 =0

—f2+4 244
e T
& &
A
e RS
X=———, %=
£ &
B.
—f3+4 344
Xx=———, x=
£ &
C.
s O
r=——m——, x=
& &
D.
il s J2 3
I=T’ = 6



38. Use the Quadratic Formula to solve '+ 20 +98=10,
A K=E=0 =12

B.x=-+2-10, x=4/2-10
cx=-A3-10, z=43-10

D. 2=:l0,. ix==10

E.x:—ﬁ—Q, x:ﬁ—ﬁ'

2
[gx— 1-’-’1] = 20x

39. Use the Quadratic Formula to solve

98 +49.5 98— 49.]5
ST 0 YT 20
A.
147 +49.3 147 - 49,3
r= 20 T 20
B.
147 +49.3 147 - 49,3
r= 10 7 10
C.
147 +49./5 147-49.45
t= T 20
D.
147 +49.5 147 - 49.5
r= 0 T 10
E.

40. Use the Quadratic Formula to solve the equation 2.3x° — 0.1x = 0.9 = 0 (Round your answer to three

decimal places.)
A x=-—1408,

g x=2115,

x=-0.50%
x=-33815

c.x=0.648, x=-0.604

O x=1914,
£ x=-0493,

x=-3162
x=1541



41. Use the Quadratic Formula to solve the equation —330x* +325x + 550 = 0 (Round your answer to three
decimal places.)

A X=-2.928, x=1.896
5 x=03%, x=-0757
c x=0.595, x=-1410
b x=-2.013, x=3.0946
£ x=-0872, x=1801

42. Solve the following quadratic equation using any convenient method.

15x% = 10x
xzé,xzﬂ
A,
B.x=10
.2 B
3 3
C.
2
-3
D.
E x=dl, in="1)

43. Solve the following quadratic equation using any convenient method.
(—dx — 9)° = 16x°

xz%, =10
A.
.9
4
B.
9
B
C.
9
~ 8
D.
s 8
i !



44. Solve the equation and write complex solutions in standard form.
A -10x+41=0

A x=-20—4i - 20+4

B x=—4+5—-4-5

c x=5+16, 5 16

D Xx=5—4i 5+4i

£ x=—4+25, - 4-25

45. Solve the equation and write complex solutions in standard form.
X +6x+16=0

A X ==3+Ti, - 3= /7
5 x=T+4/10%, 7— /10

c x=-3+/10i, - 3- .f10:
D x=T7+7i, 7= T

£ x =10+ J73, 10— 7

46. Find all solutions to the equation xt-16=0

AX=-2 2
B x=73
C.x=—3,3
D =2

Ex=—-2



47. Find all solutions to the following equation.
—32x" —80x  +2x45=0

L=l -1 .3
2 7

A.
S L -
B - R

B.
VDS R S
=Hdn s T

C.
gt 21 . __2
B T

D.
S - S |
~Tds gl T

E.

48. Find all solutions to the equation 36x" — 145x" +4 =0,

x:é, =t
A.
1 1
I__E’ x—g, x=—-6 x=-2
B.
1 1
I__E’ x—E, el pead)
C.
1 1
x——g, x—g, Freabe: Hne=ih
D.
1 1
I__E’ X_E’ el pead)
E.

49. Find all solutions to the following equation.
AN2—x-14=10

A x=1%4

B. x=:l2

cx=-12

D.x= —1%4

E x= 1598



50. Find all solutions to the following equation.

W1+10x=3=0
A x =26
_:l8
~ 5
B.
_ 27
~ 10
C.
.
— 3
D.
o
G
E.

51. Find all solutions to the following equation.
x— A9 +50 =-10

Axr=-1 xz=-10

gx=1, =10

c.xk==4, ix=19

D x=-10

Ex=-1

52. Find all solutions to the following equation.
Adx—8 = fAx+9

17
4

A.

B.x=19

C. no solution
D x=-17
E x=-8
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53. Find all solutions to the following equation.
(x—2)%% = 25
A x=127, x=-127
B. no solution
c.x=127
125
e

D.
Ex=127, x=-123

54. Find all solutions to the following equation.

7 5
e
A. no solution

x=-1 ;':——E

- T35
B.
C. x=+
39
= i} E
D.
To=dil x—@
T d T35
E.
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